MATH 1310

Test 2 Review (Alternate)
10 Multiple Choice Questions (60 points: Test 2)
4 Free Response Questions (40 points: Test 2 FR)



7.5 7>
R
U 3x 2x> 7 o~
/O 7] 3o
/—&/./
-
Jo -2/ =3ox

C D

™



\,>»—-



<7

2x% 4+ 2x — 15 =
-/ Ox - 99

—10

Ox +

— L/













el =T
N AN Z et 7\/1 7

/ST T =
X:#(f)*z = ’j o
xo L4 A= 2 3)
)= 5 e









x“—4x+3>0

Al S N

(2 )E-1) = O B % E

o 32O x - [=0 At <=

xXs S S O A (oprz2>
e Y,

(oe TN U [ e



Y
P
X -5 = O
<=5
p‘/ﬂ )
—
X'?: (>
Xty
Nt] = o

-8+~
A/O A_L//?
sl y =
lert <= o g S

_ /A)_‘ - /\/ < o
2332y M-

Je=f x> O ST J\//,;-,P>o
- _ (O’ZIOW) A/ |

reineg (D 2 s
s ffﬁj(\f*l) -~ A F

- ) E_ _
[t ~ro  ‘o== - F>os

jo-g)(lovz) £ T



Solve by Completing the Square:
2—12x +44 =0
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